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Mechanic (Central Air Conditioning Plant Industrial Revised)
Level 1

QD %rammel is used to draw a A ?FIF‘[ BT UM CACEIC AT
SIGIK

1) circle\ 9d
2) rectangle\ 3

3) square\
4) triangle\ ﬁﬂj\_ﬂ

removes rivet or pin from metal sheets and pipes.\ Yrd gftef

qatrgcﬁ@rﬁéf&rwﬁqﬁmm%\

1) Pin Punch\ g
2) Snip\ 9T

3) Scribble\ &P
4) Stake\ TP

Q 3) Identify the type of rivet.\ Rde & PR &I UgdH|

|
|
| Y

1) Mushroom Head\ HRR™H %3
2) Pan Head\ ﬁ=r %_6'
3) Flat Head\ TRIC 85

4) Tubular Head\ SJER 88

Q 4) In welding, earth clamping is done to A\ afegT ff, 31ef FiftT
eg PISI ©

1) flow the eddy current into the earth\ Q?:O[ YRT BT Y_ell & EIGT%H H
2) protect welder from ultravoilet rays\ TSR P WIS fHol § Fam
3) remove flux from weld beed\ Jcs die ¥ T HabTa

4) remove slag from welded surface\ Jfcsd Ude T 31 g

Q5 Wélich of these is non-pressure welding process?\ ERCES) DI IR-gTe T AfET
gfchar g2

1) MIG welding\ Qﬂ\ﬁlﬁ afegT
2) Friction welding\ YT AfeET
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3) Ultrasonic welding\ 31c'§I'{-I\Ii'\‘|0h afeaT

4) Laser beam welding) ToR &1 afedT

Q 6) GANTT chart, PERT and CPM are the tools of A GANTT E|'|_<.F, PERT Qa CPM
P YD g

1) Scheduling\ RrSg[iT

2) Dispatch\

3) Loading\ (“'ili%’l

4) Balancing\

Q7 T%e given figure depicts the following work element:\ at §§ &ﬂ?ﬁ g s aa@

1) Inspection\ SUaRH

2) Transportation\ ¢ ARSI RG]
3) Operation\ \’rﬂw

4) Storage\ TR

Q 8) Which of the following tools is used to open and close the service valve?\ E:I'Ef I fg
o BT YANT IS dTed ! W YT &G HRA 3 [T SITaT 82

1) Cylindrical valve key\ ﬁHﬁ'ﬂ%W dTed &1
2) Pinching Tool\ fafe cd

3) Punch set\ U e
4) Swagging Tool\ T cd

Q9 is a cutting tool used to make the metal surface smooth.\

T g B R B 8g TaNT fha1 SIH a1er ¢t 8

1) File\ ThIgdd

2) Hacksaw\ %-ﬁ
3) Scriber\¥hIgeR
4) Trammel\ aTIFT

Q 10) Which of these is used to make deep holes in the wood?\ Eé'-lﬁl' Y forget wam mcbs.hl

T e B¢ A o [Par wrar 82

1) Gimlet\ fTHcIe
2) Stake\ }H

3) Snap\ =y

4) Mallet\ Adic

Q11 spanner is used for opening or tightening round shape nut or bolt.\

TMATHR - YT diee P [l 374al HI &g TR &1 TRANT foan ST g
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1) Hook\ gh

2) Adjustable\ TSR T
3) Open ended\ 394 Qé_ff
4) Face\ x|

Q 12) Which of these fastening is not temporary?\ g—rrE[ J ST sdeH \’d@ﬂ’iﬁ BEIGI %?
1) Brazing\ ST

2) Bolt\ diee
3) Screw\ ¥p
4) Stud\ XS

Q 13) Wing nut is used in A T e @1 v 7 forar S |

1) hacksaw frame\ IR & A
2) pairs\ Gﬁ%’

3) bench vice\ CE| GIESS

4) general fastening\ ATHT S

Q14) screw is used to connect the collar and shaft in a position.\

&p BT YA HIeR Td M &1 T o fufa & Sirea gq vt fasa sirar g

1) Hexagonal socket set\ %dﬁl‘ﬁﬂd Tidhe e
2) Square head\ ¥PTIR 5
3) Pan Head\ o )

4) Hexagonal head\ RN

Q 15) Least count of vernier caliper is mm.\ IR SR BT ScqdHiD

fopeft. B )

1)0.001
2)0.02
3) 0.002
4)0.01

Q 16) The given pic%ture depicts micrometer.\ f&dT gl IGE]
|

1) Anvil\ U@
2) Flange\ RS
3) Sheet\ ¥fiC

4) Tube\ &[d
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Q 17) The unit of Impedance is A suﬂéﬁ h H[FAD %|

1) ohm\ 3&
2) ohm-metre\ 3h_55[ AR
3) henry\ %:m

4) farad\ TS

Q 18) Universal A.C. motors provides torque and operates at speed.\

Syl Te™ $Rdt § Ud Tl TR e Rl g

1) high, high\ 3, 3=
2) high, low\ 3=, g
3) low, high\ f78, 3=
4) low, low\ ﬁH, ﬁ'ﬁ

Q 19) At which of the following places, slipring motors are used. 1. planer 2. crane 3. lathe
4. grinder slotter Select the correct answer from the codes given below.\ fafafed sel |
Y forg orTe, ey 1 Hie) o1 uaiT fson S §) 1. @R 2. A

11,2
2)2.3
3)1,2,3
4)2,4

Q 20) P-type semiconductor cannot be made by adding with Germanium.\

& 1Y iR p UBR BT e=TcD Tl §-1a1 ol Ihal g |

1) Arsenic\ KIS
2) Indium \ it
3) Gallium\ Aferad
4) Boron\ TR

Q 21) Which of these is used as a charger in the machine used for refrigeration?\ _5'_‘1'& |

a1 YT i g YA Bt ST areit 7= # 9ok & &0 H fohar S 82

1) Refrigerant adapter\ IfTFolie TSR

2) Charging meter\ FrfoiT Hiew

3) Vaccum pump\ %qu gy

4) Compressor oil charging pump\ HUWR I =l U

Q 22) 1 tonne of refrigeration is equal to of power.\ 1 ¢ PEIRE] CHRUES]
& ISR BT 5|

1)3.52 kW
2) 1.05 kW
3) 211 kW
4)232 kW

Q 23) The following picture depicts a A fear g3l ICE] g gl
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Evaporator
Expansion Valve
b Suction
Line
Compressor Condenser

1) Vapour compression refrigeration system\ d&] “vTCﬂ@_"f PRIGEEP|

2) Vapour absorption refrigeration system\ dI%f NIERINIURSIRE KRF

3) Gas Throttling expansion refrigeration system\ g e feRT TR uRftas o
4) Evaporative refrigeration system\ CINRIRREIGEKE]

Q24) regulates the temperature inside the refrigeration cabinet.\

URfId hfemic & 3iex dushd &) REfRd Har g |

1) Thermostat switch\ yARee fgg
2) Split phase motor\ Qe el A’

3) Relay\ e
4) Overload protector\ RS Uicder

Q 25) Compressors cannot be classified as according to the method of

compre%s&on\jv'l'm@'»:f%ﬁfﬁ%\}iﬂﬂﬁﬂmaﬁ ﬁmﬂlwﬂ‘sﬁﬁa‘mw
Jhdlel

1) Multi stage compressor\ a—g'—@\_ﬂ Jqdted

2) Reciprocating compressor\ TN Jitedh
3) Rotating compressor\ H;Uﬁq Jdted

4) Centrifugal compressor\ 3D EIg JUleh

Q 26) Water cooled condensors have heat transfer rate as compared to air

cooled condensors. \WW Wﬁm@%‘dﬁ‘ﬂﬁ Gl KL
i) 3T RYHIARUI &R Bl B

1) high\ 3{fed
2) low\ HH

3) equal \ HHIT
4) double\

Q 27) Both air and water are used as cooling medium in condensor.\

SR U Odf UG a1g <1 b1 e HemH & =0 § yaT fobar S g |

1) evaporatlve\gatﬁﬁa
2) shell and tube\ I U8 e
3) shell and coil\ R s W

4) air cooled\UGR DS

Q 28) In reverse cycle defrosting, evaporator works like a A ﬁaﬁ%ng%
ST #, IgTus B TRE BT BT |
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1) condenser\ HoOW
2) evaporator itself\ ¥dY gl
3) expansion valve\ THUTHE aled

4) accumulator\ Qﬂﬂ’ﬂﬁﬂ

Q 29) Where do the automatic expansmn valves find their application?\ Jemie®

TRIUTH dTed! & SR H81 Ul oiTd 67
1) domestic refrigerator\ WW

2) food processing units\ T THDHRUT ‘éObI:f:
3) air conditioners\ TR
4) ice-cream plants\ AHIgH P Wiic

Q 30) In a car A.C., compressor is connected with the \fFR BR Q.@f. ff,
Tiiss  dqeigenedry

1) engine\ ST

2) clutch\ oeTd

3) chasis\ IR
4) wheels\ Ofgd

Q 31) If the split A.C. provides insufficient air cooling, then which of the following is a
possible reason?\ T f&eTe T, yafd ar] @ UeH odl g, dl 399 J R TS
I BRI &2

1) air filter is dirty\ TR ftheer a1 @

2) timer setting is changed\ CISHR IfeT Bl EENIRIE] %
3) main supply is defective\ EEE| ?F?ﬂ_ic iy %

4) outer temperature is low\ CIRRGISELARE] %

Q 32) In case of damage in compressor of a refrigeration system and blockage of dryer etc.,

is done.\WWﬁﬁ%Wﬁgﬁwmﬁmﬂﬁ%ﬁﬁ,
o SaT |

1) retrofitting\ i’éj i
2) suction\ HR[T

3) insulation\ SYRA

4) expansion\

Q 33) Which of the following amounts to the difference between moist temparature and real
liquid refrigerant temparature?\ S0 I o1 99 d19shH Ud aRdidd &d URideh diushd &
HL & SR P SRR Il 67

1) Subcooling\ Tg-ftda
2) Superheating\ Sferara=
3) Evaporation\

4) Condensation\ g

Q 34) If a deep freezer does not give enough cooling, then it must be due
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to A\afe S wieR Tt 38& UeH gl Hdl g, dl
g % PHRU G 3|

1) continuous opening of door\ axars & FRAR «3,01-\1
2) no power supply\ UiaR ﬂ'@ﬂé ol Eﬂef

3) high external pressure\ 3 dT8]1 GId

4) high external temperature\ 3= ®IIENnI dlUshH

Q 35) Which of these is not a part of Ice cream plant?\ STH ¥ o 3134 1H Wic &1 Uh

YT el &7

1) Ice bin\ 3139 fo=

2) Heat exchanger\ g TRTEoR

3) Pasteurizer\ UTHRIFSIR

4) Homogenizer\ ISR

Q 36) Car A.C. operates at maximum efficiency when running at AN PR
T, TR el T 3ferhay efdr IR BRI Bl g

1) high speed\ 3= T

2) zero speed\ ][ T

3) low speed\ BRI

4) zero load\ ][ HR

Q 37) H stands for in H.V.A.C. systems.\ T4 u . Req ﬁ, e e iy ¥ o ool

3

1) Heating\ I
2) Healing\ é”%’lll
3) Honning\ élﬁ‘l

4) Hotel\ §led

Q 38) is a device by which cool, clean and humid air can be obtained.\

TS IA g Fordor RTS8, Wt Ud 315 IR T &1 Sl g

1) Air washer\ TR R

2) Fan coil\ e $T3F[

3) Relief valve\ Reflt dred
4) Spray Nozzle\ I Ao

Q39 duct system is commonly used to obtain an efficient duct using friction
method.\ THUT JUTCH &1 TRANT X U G&f S Bl U B 5 ac oA
1 JANT foran SITa g

1) Rectangular\ IR
2) Square\
3) Circular\

4) Triangular\ ﬁﬂ;ﬁw
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Q 40) Condenser capacity is measured in \ SR B &HAT BT AT |

o ST g

1) kW
2)kV
3) kVA
4) kA

Q 41) How long a rescue breath needs to be ? \ X[gd YT fohal SX & forg g7 =1feu 2

1) Long enough to make the chest rise \ BT &b FHUR I3 ddb o1 AT
2) Delivered over 2 seconds \ 2 Yo s deb ¢ ANy

3) Delivered over 1 seconds \ 1 Jh e ad o ElIRY

4) A small puff of air \ BT BT T DIl IT AT

Q 42) What should never be placed on a burn ? \ sfef UX T I T8l a1 =gy 2

1) Cocoa butter \ PIDISHT HFGH

2) Aloe \ Tl
3) Water \ g

4) Dry sterile dressing \ W @QI%EI 3@'1-[

Q 43) In which one of the following micrometers, the graduation on thimble and sleeve are

in reverse direction to that of outside micrometer ? \mﬁ'@ﬁ AT ferg Udh W’Jﬂa ﬁ,
T iR itg 1 3iipT IS AIShIHIC oI 3ue fauita fewm

1) Depth micrometer S Wﬁa

2) Inside micrometer \ QAHISS Hl'iob\lHnICQ
3) Tube micrometer \ QII HISHIHICR

A N
4) Flange micrometer \ Ue1s] HIQPHICR

Q 44) Which among the following joints is suitable for roofing works ? \ &9d BEINEIRED

forg fafefed & 9 o 91 oile Sugad giaT g 2

1) Double grooved seam joints \ Sd¢f ¥JoS ESie| UI\IS,
2) Lap joint \ :
3) Butt joint \ §€ SIS

4) Hinged joint \ lg<8 i1

Q 45) Which one of the following notches is used when making a job with a 90° bend ? \

GTH?GH%OW%%?%GWW@W%?ﬁW@Hﬁ@W%WWW
ST g 2

1) V-notch \ CIEIE]

2) Square notch \ FHR A
3) Wired notch \ IS A

4) Slant notch \ Wi EIE

Q 46) Which one of the following sheets is used for making highly corrosive acid tanks ? \

I eRP G Sl b a1 g Fufaiad & I o4 I e &1 yan farar srar g 2
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1) Lead sheets \ S Qnaﬁ
2) Black iron sheets \ &1 TR ity
N
3) Galvanised iron sheets \ TfeddIgSS 31U Q“E\Fl

4) Stainless steel sheets \ LA W Q“Efl
Q 47) A conductor should have - \ T% ITA® H gIHT AN -

1) low specific resistance \ Ay fafdry gfaRTY

2) medium specific resistance \ H&H fafRry uferty
3) high specific resistance \ 3= fafary iRy

4) any specific resistance \ ﬁ’sﬁ aff ﬁﬁl@ gfaRTY

Q 48) Which one of the following is an insulator ? \ m | ﬁq-w Uh pdlcdh % ?

1) Mica \ HISDI
2) Iron \ 3ATIRA
3) Copper \ dIdl

4) Aluminium \ Q@ﬁﬁuﬂ

Q 49) NPN transistors are preferred to PNP transistors because of \ PNP T foReR] bl Jdd-i
o NPN ¢ifoRex) &t adigdr &t STt § aifes -

1) higher switching speed \ 24 i wis 3= gt %’

2) wide range of operating temperature \ ET'FET SRS ATYH BT IS 311 gt %

3) easy use of positive supply rail \ gifoffed mw T & foru S gl %

4) higher switching speed and wide range of operating temperature \ =74 Rafin wdite qun
SNTRTT ATTHH 1 Jof 3 Bieit &

Q 50) The arc utilized in electric arc welding is a\ ‘s;éf%;ai 3T AfcET H UarT &1 9
arell 317h Bl & -

1) Low voltage, high current discharge \ GE] d\lc't\i\ﬂ, 3 Hie (Sl
2) Low voltage, low current discharge g a@ﬁ, g wie fems
3) High voltage, high current discharge \ 3= Cl\lc't\i\fl, 3 Hie fSwm!
4) High voltage, low current discharge \ 3= Eﬁm, g wie fewms

Q 51) Spelter is a brazing alloy consisting normally of \ e TH ST Ta % o
UT: Bl G -

1) 50% copper and 50% zinc \ 50% qreT iR 50% i
2) 50% copper and 50% lead \ 50% A&l 3R 50% S
3) 50% lead and 50% zinc \ 50% S 3R 50% i

4) 50% copper and 50% tin \ 50% e 3R 509 fe

Q 52) In the process of soldering, you have noticed soldernot sticking to sufficiently heated
copper soldering bit when rubbed over solder bar. What step do you take to overcome the

problem?\maﬂﬁ@&ﬂﬁqﬂﬁ?mﬁwmmaﬁ
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1) Clean the bit thoroughly\ fSie P Juiqar A% FRp

2) Pre-heat the solder \ I Bl m@? FIh

3) Change the soldering bit \ s foe deaar

4) Rub the bit over solder for longer period \ i 3fafy & forq fae P A WY [Sh

Q 53) In S.I. unit, one ton of refrigeration is equal to \@.3‘”—5;. Qﬁ?ﬁ, ITPSRTA & T
CIRER BTG -

1) 3.5 KJ/sec
2) 2.5 Kl/sec
3) 3.0 KJ/sec
4) 5.0 KJ/sec

Q 54) The process, generally uesd in winter air-conditioning to warm and humidify the air,

is called \ TRAHTCI gaT3T W ATHIC: SN UfhaT BIcH € 98 § TH 3R a1 STl Bt
BRI HRAL, T HEd © -

1) Heating and humidification \ TTH HRAT 3R SATEATHI]
2) Relative humidity \ T¥d 3Tl
3) Humidification \

4) Specific humidity \ fafRry smdar
Q 55) The sensible heat factor is equal to \@ﬁl@ﬁéﬁf tbdt( TR G\Idl % -

1) Sensible heat / (Sensible heat + Latent heat) \ AREa gie/ @ﬁlﬁﬁ glc +deC gic )
2) (Sensible heat + Latent heat) / Latent heat \ (@ﬁla?[ Bl + de< Bic )/ de< Bic

3) Sensible heat / Latent heat \ RINC] ﬁ?{ /A< _63?:'

4) Latent heat / Sensible heat \ A< @?/ IRTga _EW_C'

Q 56) If the relative humidity of atmospheric air is 100%, the rate of evaporation of water

will be \ TS ITGHSHT gaT B T ST 100% g al U P ATBRT Bi &= BT -

1) zero \ ][I

2) high \ 3=

3) medium \ HHH
4) low \FY

Q 57) Pressure exerted by the air above the surface of the earth is called \ SHH & Ide R
84T gRT &Y T3 316 & Hed & -

1) Atmospheric pressure \ dlgl-i SIREAR
2) Absolute pressure \ URH qId

3) Guage pressure \ U AL

4) Vaccum \

Q 58) The coil of copper tubing through which cold refrigerant flows is called \ DI

SIS B Brad o 378 Ihoie B 981 BidT 8, Heal ¢ -

1) Evaporator \ IS
2) Condenser X:BITP
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3) Thermostat \ yARee
4) Compressor \ Jddted

Q 59) The refrigerant light (bulb) is operated by A XfIhoReR oflgC (ded)
% R STORT BT

1) Door switch \ GdTel & =
2) Relay \ Fal

3) Thermostat \ yARee
4)OLP\ 3fl. U@, .

Q 60) In a vapour compression system, the condition of refrigerant before passing through

the condenser is \ AT G&Td YUITEH H dhawx | {NQ:I I Ugd Wﬁ@ﬁ%ﬁ?ﬁ% -

1) Superheated vapour\ ﬁlﬂfﬂ%@' CINY
2) Wet vapour \ 1feft arsq

3) Dry saturated vapour \ [&h @ﬂié@ ayq
4) Saturated liquid \ fafes

o N\

Q 61) The frost-free refrigerator works on \ THIe-Th1 XThoRex BTH Bl

1) Air circulating system \ TUX ﬂﬁﬁﬂ Rreg R

2) Vapour absorption system \ d&] RNy e |
3) Vapour compression system \ d® Juted RReg R
4) Evacuating system \ Q?ﬂag%'[ Reg R

Q 62) Metal tubes are employed to connect the various parts of Refrigeration system. Which

type of metal tube is used in domestic appliances ? \ TRftae gomrelt o faftrd 4rn &1 \_Ih?;%f
2 UTfcde @l &) Ugad foraT ST 8] TR IR0 § {5y get

1) Copper \ GIE

2) Aluminium \

3) Brass \ Uidd
4)PV.C.\ UL 9}, 9.

Q 63) The accumulator is fitted in outlet of evaporator. In a refrigerator, the accumulator is

made of \ AR, I & 33cale H fthe Xgdl 5| Ud wRilds o
TRHAR 1 1 Il 8

1) steel \ &I
2) brass \ dtad
3) copper \ didl

4) aluminium \TegHITH

Q 64) The temperature and pressure of refrigerant changes in the cycle of vapour
compression system. The lowest temperature during the cycle in a vapour compression

Z}-ﬁs;em occurs after N\ TR HRIYHE Ried & gisfed H IThoRe &1 Y
[«

1) expansion \ TRIUTH
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2) compression \ HIRE
3) condensation \ CaSRRIE]

4) evaporation \ séuﬁm:r
Q 65) The vapour pressure of a refrigerant should be \ fThoiie &1 a1Y gaTd g1 alfgU -

1) Higher than atmospheric pressure \ TaiaR0T Ga1d ¥ S4Tal
2) Lower than atmospheric pressure \ UgTaRu gaTd ¥ &9
3) Equal to atmospheric pressure \ iRl GE1d & ATHH
4) Could be anything \ P& ot Eﬁ NEZS %

Q 66) The leaks in a refrigration system using Freon are detected by \ flha &1 ITaT
HRA g INFORTA Joment H s &1 Ual AT STl -

1) Halide torch which on detection produces greenish flame lighting \ NIES] HERSIEGI
T TR R T 1 &l DI TG

2) Sulphur sticks which on detection gives white smoke \ {ethX fe® 9, S R uaram™
IR g Y311 e

3) Using reagents \ ﬁ'@f BT YN B3 I

4) Smelling \ 7Y |

Q67)Ina w1ndow -type air-conditioner, the expansion valve used is \ Uch fdSI PR & TR
IR B e TR dTed ST -

1) capillary tube \ PRIGE AfTDbT

2) constant pressure expansion valve \ f0d g1d TaURE dTed
3) thermostatic expansion valve \ yARefed THRIUTHE dled

4) float valve \ TFAle ared

Q 68) Which of the following refrigerant has the maximum ozone depletion potential in the

s%tratosphere?\ﬁﬁ@%%ﬁ@ﬁﬁﬂ?ﬁ%%ﬂw&mmww
9

1) R-11
2) Carbon dioxide \ CAGE] @ﬂgm
3) Sulphur dioxide \ JehR SR3HRIZS

4) Ammonia \ ST
Q 69) A good refrigerant should have \ U 3w Yfhoive | Eﬁ:ﬂ Em%'q -

1) Low melting point \ IBERINGIED

2) Medium melting point \ HEIH TTIh
3) High melting point \ 3 A

4) Any melting point \ Ob\lsr 1} oD

Q 70) The insulating capability of a material is measured with thermal A

U Uty &I A¢yh &HdT I AT SIdT 8, ardig

1) conductivity \ TTAHAT I
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2) resistance \ PIREE
3) conductance \ eTIaT
4) connectivity \ GaTSTdHdT I

Q 71) The pressure at the inlet of a refrigerant compressor is called \ U ITpoRe HIRR &

ST RUR P Fea ¢ -

1) Suction pressure \ YR USR

2) Discharge pressure \ f&ms I=R
3) Critical pressure \ fpfema IR
4) Back pressure \ 9% UIR

Q 72) Fire generated due to chemical substances like magnesium, potassium etc. falls under

class \ TREw, o fRw safe SR IS uerdf & SR S 3ifi
ot & 3icfa smar g

1)D
2)A
3)B
4)C

Q 73) If a person gets unconscious after an electric shock, he must be \Tfg

PIs Afad [9ggq Fed & 916 I5IRT Bl oIl &, af 34 |

1) given artificial respiration\ Tﬁﬂ G <A1 91T

2) fed with water\ U1 fOT @1fgq

3) bathed with water\ Tl ¥ @I ATRY

4) provide with burnol on body\ I YRR TR SR T AMGT

Q 74) The size of the centre drill is determined on the basis of A TR %AFT Eal
THR & 3R W FuiRa forar Srar g

1) diameter of the Workpiece\ﬁfﬁg & AN
2) material of the workpiece\ IHUN & gard

3) length of the workpiece\ JHUY Bt F’I'W'I_sc
4) operation to be performed on the workpiece\ I U IR fopar oI arel sri

Q75) is used for drilling small diameter holes upto 6 mm. \

&1 TN 6 T O Bc o a1l fos &1 fga a=a & forg fpar sman g1

1) Bevel gear type drilling machine\8dd IR THR ﬁgi%m o=
2) Ratchet drilling machine\¥de %ﬁ'ﬂ’[ ERIE]

3) Breast drilling machine\SRE %ﬁm =i

4) None of these\szlﬁ I aﬁé '_'|_E?[

Q 76) Which of the following is not a property of aluminium ? \Fefafea A o

TegHIaH BT 01 751 52

1) It readily dissolves in hydrochloric acid\dg T ™ E’IE@H@W 3 | LRI %
2) Its specific gravity is about 2.7\89p1 fafry ocd CITHIT 2.7 gl %
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3) It is a magnetic substance\dg Ydh W EIET?AT %
4) It is a very good conductor of heat and electricity\dg 3 SHI 3R [d¢gd I U dgd
3BT AP §

Q 77) Match the following - \ FfaRad &1 &I?‘ITQ Development Method \faery fafdr
Objects \ aﬁr\f (1) Parallel line \ AR 34T (p) Cones and Pyramlds\% 3R forifirs
(ii) Radial line \FSig a1

1) (i) - (r) ; (ii) - (p) ; (iii) - (q)
2) (i) - (p) ; (i) - (1) ; (iii) - (q)
3) (i) - (1) 5 (ii) - (q) ; (iii) - (p)
4 (1) - (@) ; (iD) - (p) ; (i) - (r)

Q 78) Which type of solder is used for soldering brass, copper and jewellery 7\ tﬂ?‘lﬁ, GIEI
3R 3MYYUT & WIS 5 [ UBHR BT Tee Tgad [l SiTdl g2

1) Common solder\HTHIY e

2) Coarse solder\HIeT TIeax

3) Fine solder\§&H e

4) Extra fine solder\3ffdl g&a e

Q 79) Potential difference between two conductors insulated from each other is measured in

./ U QIR Y QUG &l a1 o did [qUaiaR di AT

STl &)

1) Ampere \TRRR |
2) Coulomb\ i
3) Ohm \3fi@ H

4) Volt \dlee #

Q 80) NPN transistors are preferred to PNP transistors because of- \ PNP CII\SNCQI Kl dod-I

A NPN TiforeR) &1 adigdr <t Wit § oifes -

1) higher switching speed \ 4 Rafd wite 3= it %

2) wide range of operating temperature \ 3_'{3[ SNRIET ATUHH P I 31feH @T‘ﬂ %

3) easy use of positive supply rail \ uiferfed q@ﬂgw TanT & fau = Gl %

4) higher switching speed and wide range of operating temperature \ 374 g wdte qun
SIRTT ATIHM Bt Iof 3 Bieht &

Q 81) In Oxy-acetylene gas welding, oxygen cylinder can store gas to a capacity of

with the pressure ranging between A\ SfTa- QTﬂﬁ?ﬂ:{ afedT ff
m@mﬁ FT T T S B o U @ ReTaE

1) 7m3 ; 120-150 kg/cm2
2) 6 m3; 15-16 kg/cm?2
3) 7m3; 12-15 kg/cm?2
4) 6 m3 ; 150-160 kg/cm?2

Q 82) The picture shows a symbol, what type of symbol is this ? \ ICERCRGICATE Pl
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cuiar s, Ug g fPg UsR B8 2

1) Square butt weld\¥ePTUR I CS
2) Plug weld\ &I 908

3) Spot weld\ e A8

4) Seam weld\ T 958

Q 83) The purpose of commutator in a D.C motor is to - \ fooeft 33t Aler | WET Cal
TS BT & -

1) Allow transfer of current by connecting it \ = th ¢RI & SIATART Dt G'Iﬂﬂﬁf ol
2) Provide a means of transferring mechanical energy \TifAe Soll B RITTART B B
e T DY

3) Reverse the direction of current in the coil, the movement the coil becomes parallel to the
lines of force \WWWW, Wﬁﬂﬁ?ﬁ%WﬁW, ?‘hﬁ(’ﬁﬁ YRT BT
o= bt uRafcd

4) None of these \E:Fﬁ @ ﬁ's‘ :lﬁof

Q 84) In S.I. unit, one ton of refrigeration is equal to . \Qﬂ.\}l'l_sc . Qﬁ? ﬁ,
MR FITH T PR

1) 3.5 KJ/sec
2) 2.5 KJ/sec
3) 3.0 KJ/sec
4) 5.0 KJ/sec

Q 85) The process, generally used in winter air-conditioning to warm and humidify the air,

is called \ AR TR NPT TR ST & gar &) 7 3R e 27 %
Wmﬂﬁaﬁaﬁrmﬁ G RSIGIR|

1) Heating and humidification \ 81171 3R 3meffepur
2) Relative humidity \ TOfe ST

3) Humidification \ 3TE{0T
4) Specific humidity \ fafR1y 3rekar

Q 86) The sensible heat factor is equal to \UREa gle Pae P TR
gl 8|

1) Sensible heat / (Sensible heat + Latent heat) \ AR sie/ @ﬁl—@ﬂ gic+ deeBic )
2) (Sensible heat + Latent heat) / Latent heat \ @ﬁﬁﬂ gl + deT BIc )/ e gle

3) Sensible heat / Latent heat \ IREdglc/dee gle

4) Latent heat / Sensible heat \ dc< gic/ AREa gie

Q 87) If the relative humidity of atmospheric air is 100%, the rate of evaporation of water
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will be m\ﬂﬁ&ﬂﬂ@?ﬂﬂﬂﬁﬁ&@%l%%%ﬂ‘fﬂ%ﬂ@ﬂﬁ
o el

1) zero \ ][

2) high \ 3=

3) medium \ H&HH
4) low \FY

Q 88) Pressure exerted by the air above the surface of the earth is called \ S B
JIE WREATGRITML T GE D] HEd g

1) Atmospheric pressure \ dlgl-i SRIREAR
2) Absolute pressure \ UXH QI

3) Guage pressure \ 7151 I

4) Vaccum \

Q 89) The coil of copper tubing through which cold refrigerant flows is called A

BIR ST B BId Bad 33 MpsRe FITREEIR,  Pgaldi gl

1) Evaporator \ Gl
2) Condenser \Tgf=
3) Thermostat \ yAfee
4) Compressor \ Jqdted

Q 90) When installing a domestic refrigerator, it should be leveled carefully in order to

|\ T Ueb TR Wb ab! T bt Tl @, el 3y ®
WWW@WWW{

1) Reduce vibration when switched on \ g 3119 P IR HH HH A

2) Avoid spillage of the condensate \ HoUC DI ITAPX d16R NIk I APp

3) Maintain correct oil levels \ dd & el 7ad ol g1 I8

4) Ensure correct flow of the refrigerant \Xfthoike & gl 981 &l ﬁﬁ'@lﬂ A

Q 91) The refrigerator light (bulb) is operated by A\ XfTholRer dge (ded)
& GRT 3R TIaT g

1) Door switch \ GRdTSl & Rad
2) Relay \ Rt
3) Thermostat \

4) OLP \ 3Tad

Q 92) Which of the following can be called as a refrigeration process ? \Fofafead g
ford XTPORRI UfehdT &1 U ¥ Bl ofl Jball § 2

1) Cooling of a pot of water by mixing it with a large block of ice \ UMl & U U | TH
BT UH TS] SAID HATHR 39 ST BT

2) Cooling of hot ingot from 1000 °C to room temperature \ Ydh Tlﬁs_fl'rl_(f BT 1000 °C T
B & ATUH b 38T DAl

3) Cooling of human beings using a ceiling fan \ Y &d 0d & TN Y AHd B Gl

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=68 16/27



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=68

HIAT
4) Cooling of a hot cup of coffee by leaving it on a table \ carakcy Uh TR vY CAR: SRR

3818M & fou Bls &

Q 93) In a vapour compression system, the condition of refrigerant before passing through
the condenser is \ T 9y HUTgH gurelt H, he-eR J ToR- ¥ Ugd
faaeaiRG_ giR

1) Superheated vapour\ SfeR ST are
2) Wet vapour \ Tfielt o

3) Dry saturated vapour \ {[th W ayg
4) Saturated liquid \ ¥t dRd]

o o\

Q 94) The frost-free refrigerator works on A\ ThIRe-ThT ThoRex DHIH Pl
e

1) Air circulating system \ a1 el JUITelt IR

2) Vapour absorption system \ d&] S{ARNYUT YUITel UR
3) Vapour compression system \ dI&] “vTEﬂE_"T Ul /R
4) Evacuating system \ AT gomedt &R

Q 95) What is the cause for moisture in frost-free system ? \ TIe-Ip! ReH | 99 81 &1
T HRUG ?

1) Improper evacuation \ STUgdd IBEQL]
2) Low oil level \ dd T HH TR

3) Short of gas \ T Pt Bt

4) Over charge \ 3R ISl

Q 96) Metal tubes are employed to connect the various parts of refrigeration system. Which

type of metal tube is used in domestic appliances ? \ TRitae® gonelt o faftd 4rn &1 \_rh@';e[
2q YT ogal! ! Tgad fohdT ST 8] TR SUSRUN H [y TaT

1) Copper \ GIE

2) Aluminium \

3) Brass \ dtad
4)PV.C.\ UL 9}, 9.

Q 97) In evaporator, the evaporation process takes place. What is happening in evaporator ?

\ AT & TSy ot ufshar ufed gt g I B R I @I g 2

1) Heat is reducing\ dl4 v H BI T %

2) Heat is increasing \ dI4 dg gl %

3) Pressure is reducing \ GId ®H Epf el %
4) Pressure is increasing \ QId §g gl %

Q 98) The accumulator is fitted in outlet of evaporator. In a refrigerator, the accumulator is

made of N\ GO, I & 33cae B Tl Srdl g | U U=iide 7,
REIRCg GG
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1) steel \ L¥Id
2) brass \ dtaa

3) copper \ didl

4y aluminium \TegHIAgH

Q 99) The temperature and pressure of refrigerant changes in the cycle of vapour
compression system. The lowest temperature during the cycle in a vapour compression

system occurs after AdiYg Flﬂg:[ JUITelt & dsp H XMacde &1 a1y 3R
ad uReR

1) expansion \ YRT[
2) compression \

3) condensation \ HYTT
4) evaporation \ CINYICR

Q 100) Why CFC-12 is not used now a days as a refrigerant ? \ CFC-12 P 3THA
fpoie & wu & i Ugad e fhar S g 2

1) Ozone depletion \ 3TISI &RT

2) Global warming \ died g

3) Low latent heat value \ 95 ®icc gl 3?1
4) Instable \ SRR

Q 101) Which refrigerant is not in the group of green refrigerant ? \ Eﬁ—"[ g1 %ltﬁﬁﬁa, ViG]
Ihoive & g A Tl § 2

1)R-12

2) R-290

3) R-134A
4) R-600A

Q 102) The vapour pressure of a refrigerant should be \ T 2fiddd ol arg
qed__ gHIEmgy

1) Higher than atmospheric pressure \ dlgl-i SQﬂq qa1a ¥ 3w
2) Lower than atmospheric pressure \ dlgHSﬂlq Ga1d ¥ A

3) Equal to atmospheric pressure \ dIgJ-ISﬂILI GdTd & ATHH

4) Could be anything \ P& 1} g1 el %

Q 103) What process makes the water in a cooling tower cool ? \ T W TR § 51 Dl
ST HA A DI T ufhar gt 8 2

1) Evaporation \ CIERI
2) Condensation \ g
3) Radiation \ fafas=ur

4) Conduction \dI¢Tq

Q 104) In a window-type air-conditioner, the expansion valve used is AU fast

UPR & TR SR B Ugad e aed. @il
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1) capillary tube \ BRI TP

2) constant pressure expansion valve \ f0d g9 TRIURHE dTed
3) thermostatic expansion valve \ yfefed Qaﬂ'a'ﬂ:f dled

4) float valve \ TAle dTed

Q 105) Which of the following refrigerant has the maximum ozone depletion potential in the

stratosphere 2 \ fFEfIRad & T forg Wdde & THAT Hed H NS & 3By & &1
GRITEA1§ 2

1) R-11

2) Carbon dioxide \ BT SEIHFAZS
3) Sulphur dioxide \ TeHR SIS 3RS
4) Ammonia \

Q 106) A good refrigerant should have AT 3w XThoRE @l BT
R

1) Low melting point \ IBERINGIED

2) Medium melting point \ HEH T
3) High melting point \ 3 TTA-Ich

4) Any melting point \ aé’l's‘ RINEICY

Q 107) The insulating capability of a material is measured with thermal A

, U g1 P NeYes & Y AT ST @ |

1) conductivity \ TTHAl I
2) resistance \ PISRICES|

3) impedance \ PIGEICIES]

4) connectivity \ il o

Q 108) Which one of the following insulating material is renewable ? \Fafafead D
1 ST Ueref AdHIpRoNa § 2

1) Cotton \ ®UTH

2) Fiberglass \ thIgdR Telld
3) Cellulose \

4) Polystyrene \qT?ﬂ@:f

Q 109) The pressure at the inlet of a refrigerant compressor is called A\ Uh

APoRT FUR B STACRIIRS] HEAg

1) Suction pressure \ R USR

2) Discharge pressure \ femre UeR
3) Critical pressure \ fpfcma U=R
4) Back pressure \ 9% UTR

Q 110) Air conditioners can be compared to what other household appliance ? \ U4

SR P AT [h 3= TR IUDHRUT I 1 Sf Thell § 2
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1) Refrigerator \ ITpoIey
2) Dishwasher \ fSRIGIRR
3) Oven \

4) Grinder mixer \ T3S fRR
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Q 111) What is an easy and affordable way to cool a small space ? \ Udh BIC R Bl 38T

HIA DT Y I 3R XA RBT ST I 2

1) Window AC \ fd@T AC
2) Split AC \ &I AC

3) Cooling tower \ T%PT cldar

4) Package AC\

AC

Level 1 Answer key
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S(I)I.GStiOIl Option 1(\?;estion Option 1(\?(l)l.estion Option 1(\%(l)l.estion Option
1 1 31 1 61 1 91 1
2 1 32 1 62 1 92 1
3 1 33 1 63 1 93 1
4 1 34 1 64 1 94 1
5 1 35 1 65 1 95 1
6 1 36 1 66 1 96 1
7 1 37 1 67 1 97 1
8 1 38 1 68 1 98 1
9 1 39 1 69 1 99 1
10 1 40 1 70 1 100 1
11 1 41 1 71 1 101 1
12 1 42 1 72 1 102 1
13 1 43 1 73 1 103 1
14 1 44 1 74 1 104 1
15 2 45 1 75 1 105 1
16 1 46 1 76 3 106 1
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1/ 1 4/ 1 !/ 4 107/ 1
18 1 48 1 78 4 108 1
19 1 49 1 79 4 109 1
20 1 50 1 80 1 110 1
21 1 51 1 81 1 111 1
22 1 52 1 82 2
23 1 53 1 83 3
24 1 54 1 84 1
25 1 55 1 85 1
26 1 56 1 86 1
27 1 57 1 87 1
28 1 58 1 88 1
29 1 59 1 89 1
30 1 60 1 90 1

Mechanic (Central Air Conditioning Plant Industrial Revised)
Level 2

Q 1) Plate surface evaporators are not used in \&IC gdg! a1 &1
TRINT H el fopar o g

1) food processing industry\ TTe] THTHRUT 3@5@
2) ice-cream cabinet\3{IQY B biae

3) domestic refrigerator\ MW

4) freezer\ ISR

Q 2) The refrigerant symbol for Methane(CH.) is A Iﬁ?ﬁ(cm) CARRIGE

fag gl
1) R-50

2)R-14

3)R-11

4) R-240

Q3) is not an anti-freeze substance.\ QEPI-W tIET‘Zf 7‘|_6D[ %|
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1) Methylene Chloride\ FTITSeH FIRZS
2) Methyl Alcohol\ TS 3femigd

3) Ethylene Glycol\ 3ciH @8 Id
4) Glycerine\ frere=

Q 4) Which of these thermal insulations used in refrigeration has highest density?\ PRIGEE]
TRINT fhd ST a1 39 S8 AeqT B 3§ fhget 9-a 9ad 3= 811 82

1) Calcium silicate\ Py fRfede
2) Cotton\ hIc

3) Granulate\ y < [

4) Wool\ dcf

Q 5) The nature of air in summer air conditioning is \ U1 drdid - |
arg Sk

1) heated and humidified\ e Td 99

2) heated and dehumidified\ 7TH Td [&H
3) cooled and humidified\ $S1 Td IH

4) cooled and dehumidified\ $SI Td oh

Qo6) in the condenser maintains the required level of water.\ HoR
A Sl & 3TIP TR P g1 @1 g

1) Flow switch\ Ul e
2) Overload circuit\ 3Rl aRay
3) Cut-out switch\ Fe-3T3¢ kaa

4) Strainer\ @fl?

Q 7) The application of fans and blowers in central A.C. plant is A\ foddt
AT We A BATI SR BISUTT 3§

1) circulation of air\ dIg YR
2) heating\ S CHT Ul
3) cooling\

4) chilling\ GaRIta

Q 8) In a car A.C., condenser is fitted near At eRr T{.Fﬁ. ff, HoW
& Uy # fibe fpar Sman g

1) radiator\ feTR

2) rear wheel\ R i

3) crankcase\ '

4) magnetic clutch\ mfes g

Q 9) In direct expansion system, which of these is found in Plant room?\ Y& fowrR
Q e BN . .
oTTett 7, 370 q DIF Wic ©H H U1 ST 82

1) Condenser\ Tt
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2) Air filter\ TR fheex

3) Evaporator\3 g™
4) Return air duct\ e U} sac

Q 10) Ducting is done in large officesusing ~~ type distribution.\

UbR & [k gRT 52 3iiftha § Sfectt &1 ol g

1) Ceiling panel\ Hifer O
2) Upward\

3) Pan\ o

4) Wall\ dIct

Q 11) In a flooded type chiller application, the expansion valve used is \ RTS8 UHR &
IR SUART H, JART {3 S a7 TauR aled 81l & -

1) float valve \ TAle dTed

2) capillary tube \ BRI AfCTPT

3) constant pressure expansion valve \ fad g9 TRURH dTed
4) thermostatic expansion valve \ yafefes THRURHE dled

Q 12) When moisture is present in a refrigerant, it can lead to the formation of \ Ipore o

Sudsy 741, T Faior &1 IRd Sl g -

1) carbondioxide \ AL SRAINZS

2) hydrochloric acid \ ‘5’5@3@% TRe
3) hydrogen \

4) peroxide \

Q 13) Which one of the following refrigerants has the lowest boiling point ? \Fafafed |
3 for YfFoRe &1 Sy fig GAaH giaT g 2

1) R-22
2) R-717
3)R-11
4)R-12

Q 14) Which one of the following is NOT a part of outside unit of a split air conditioner ? \

fFoferad & § Hi fReie TR HSIRMR & 9Tel ShIs BT HRT T8l § 2

1) Evaporator coil \ iaq\l\idi CAENY
2) Compressor \ ¥

3) Condenser coil \ HSW oigd
4) Expansion coil \ Wa?l:f oled

Q 15) Supermarket refrigeration requires :\ {:NQHI;‘)C CARIEERER] a?ﬁ % : (1) Provision
of storing a wide variety of products requiring different conditions \fafr Iaral ﬁ, fore
- R BT sra=gasdt gicl &, H Wfed & H1 T

1) (i), (i) and (iii) \ (i), (ii) MR (i)
2) (i) and (ii) \ (i) 3R (i)
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3) (ii) and (iii) \ (ii) 3R (iii)
4) (i) only \ dd (i)

Q 16) Which of the following Duct design method is used to design duct ? \ B NIECR RS
EN o~ o
P 1 SIT SIS UGHd TaE B dR B & [ STANT &1 el § 2

1) Equal frictional loss method, Static regain method and Velocity reduction method \ geb ¢l

fihaRITel A 7Y, Ticdh R AYS Td deiic Rea=m Ayg
2) Static regain method \ Tfew R ays
3) Velocity reduction method \ JAIfct Ream AYs

4) Equal frictional loss method \ Q&b ¢i ThaRHd a Jus

Q 17) The sound that moves from one point to another point through air in air conditioning

system is called \Wﬁwﬁﬂﬁwﬁgﬁwﬁgﬁaﬁaﬁr
&) P ST

1) Air borne sound \ 91 SIfd &4
2) Structure borne sound \ X[ SIRGREIR]

3) Terrible sound \ <Raa e
4) High density sound \ 3= Y-cd et

Q 18) The leaks in a refrigration system using freon are detected by -\ fram &1 IuanT
HRd g ORI oTTelt H Tl &1 UdTl AT SITdl 6 -

1) Halide torch which on detection produces greenish flame lighting \%?ﬂ%@ HERSIRGI
T TR X BT el ! ST

2) Sulphur sticks which on detection gives white smoke \ ¥l e 9, S udram™
R G Y3 Fabarm

3) Using reagents \ RuSic oI &R 9

4) Smelling \ 7¢/

Q 19) The condenser fins of a refrigerator should be cleanedby ~ \Ud uefide &
cacrsrdiver: SRR S 1V A G kT S

1) painting brush \ UfeTT oI=1 g
2) soap solution \ TG & HId GRI
3) dilute acid \ d 3T gIRT

4) fin comb \ P ®lg grr

Q 20) In a flooded type chiller apphcat10n the expansion valve used is \TISS

UhR P foreR SUANT H, AT fba - aTell Ui aled. Bldig|

1) float valve \ TAle dTed

2) capillary tube \ BRI Al

3) constant pressure expansion valve \ fad g9 TaqURE ared
4) thermostatic expansion valve \ yHfefe® TRTURM dled

Q 21) When moisture is present in a refrigerant, it can lead to the formation of A

YboRe & Iudsy T4, & i & IRa B g
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1) carbondioxide \ BT SEHFIZS
2) hydrochloric acid \

3) hydrogen \

4) peroxide \

Q 22) Which one of the following refrlgerants has the lowest boiling point ? \Fgferfaa o
Y fora YfhoRe &1 Sy fig FAaa giar g 2

1) R-22
2)R-717
3)R-11
4)R-12

Q 23) Which one of the following is NOT a part of outside unit of a split air conditioner? \

frafead 9 o1 1 fRae TR HEIRR 31 16 IHTS 51 iTw et 82
1) Evaporator coil\WW

2) Compressor \ ¥

3) Condenser coil \ RGIEE] @ Sl
4) Expansion coil \ YU @35“

Q 24) What does a commercial freezer usually have that a home freezer doesn t ? \ Uch

AT WhIoR B AHd: U7 &1 8IdT § Sl IR hIoR # el aldT § 2

1) Reinforced aluminium floors that can take heavy weight \ gaferd Wﬁ’qt[ R S
YRI GO a8 B Gbhdl o

2) Stainless steel doors \ AN KA & grdTol

3) High-effeciency refrigerant compression \ 3= q&fdl aral Yfthoike ﬂtﬂ?ﬂ

4) Stalnless steel doors and High-effeciency refrigerant compression \ @Hﬁq Td &
aRATol TYT I &I aTet YThoike Yuis

Q 25) Supermarket refrigeration requires :\ W Ufiaq d sawasd % : (1) Provision

of storing a wide variety of products requiring different conditions \EIRPEIE] ﬁ, Iél%
- okl B siTa=gerar gidt 5, § GUgd dA H1 U

1) (i), (ii) and (iii) \ (i), (ii) 3R (i)
2) (i) and (ii) \ (i) 3R (ii)

3) (i) and (iii) \ (if) 3R (i)

4) (i) only \ dd (i)

Q 26) Which of the following Duct design method is used to design duct ? \ fafafead 9
B U1 S (ST UG, ST BT IR B & o STANT D1 A § 2

1) Equal frictional loss method, Static regain method and Velocity reduction method \ S&b ¢l

foperrTe g1 fafer, e R fafe vd denfirdt Reawm fafe
2) Static regain method \ few R fafe

3) Velocity reduction method \ Jardt fRearm fafd

4) Equal frictional loss method \ geh ¢l foha=rd g1fA fafdr
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Q 27) The sound that moves from one point to another point through air in air conditioning

system is called \WWWﬁW%WW@W@@@
R &g Y S arelt &l b CIIRCIG I
1) Air borne sound \ dIg SfAd @
2) Structure borne sound \ TR SIRGREIR]
3) Terrible sound \ e @
4) High density sound \ 3= Y-dcd e
Level 2 Answer key

Question No. | Option

1 1

2 1

3 1

4 1

5 1

6 1

7 1

8 1

9 1

10 1

11 1

12 1

13 1

14 1

15 1

16 1

17 1

18 1

19 1
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20 1
21 1
22 1
23 1
24 1
25 1
26 1
27 1
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